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Q. 3) The square of 72 is equal to the product of 216 and

a number. Find the number.

C1 .2)?';-_ Q)6 XX 72 B1 a1, 216 3R TS T & UAGH & a6 ¢ | &I
2 Y =z RIGE 24
FLxId = 26 R (a) 36 ORE
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Q. 4) The price of an article is increased by r%. the
new price was decreased by r% later. Now the
latest price is Rs. 11 What was the original price of

the article? g
U a%] & Ged | r% B gfeg 1 ol g1 91g & 39
gﬁrgaﬁw HTdl 81 3@ Fd-aH 9o
| I T BT URIHS g = 412
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Q. 5) The cost of 50 dozens of bananas is Rs. 2400

CP - otyeo an|¢|i. the transport cost per banana is Rs. 0.25. The
. selling price is Rs. 10 for a pair of b i
B e et i - pair of bananas. What is
“a = profit percentage (rounded off
decimal place)? WP fo one
o+l cP= b/ﬁ' soaﬂaﬁ:wqygz,wox%ah?uﬁfﬁﬁ
7 N - mms%lmm 25% aﬁﬂéaﬁﬁﬁmﬁmqm
= - o0 : IGRIG (TF QAW RH dP
. ~ \?;\' 5 1R (a) 14.5% b) 17.6%
2 4 ;00 4 (c) 15.4% (d) 16.7%
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A P
)% 300 q 8yo
1= JoO xS
AR N

% Q. 7) A person invests Rs. 9840 at 5% per annum

\“0. l simple interest to obtain a total amount of Rs. 12300.
/ For how many years did he invest the sum?
US AT 12,300 F Bt A AR UTW B & o€ 5% Bt

At WU T 3X UR 9,840 T & f43% ST 21

o uﬁrmﬁ%&rﬁmﬁaﬁ%mmm?
(a) 5 years (b) 4.5 years
c) 3.5 years (d) 3 years
2460
S— A = P+sT P,- (ogxg"‘l
P—= pq-5T RxT
MK%% st - A-P R= [(oexsL
w)([’/ S1 = )Exp:?_l _— \OPOX)(TS]Z.
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Q. 8) Supraja and kausalya can complete a work in 30
days and 20 days, respectively. If supraja starts the work
and they work on alternate days, in how many days will
75% of the work be completed?

Weﬁ?ﬁmgmﬁmz 30 f&= 3k 20 &= &
IBTWW?I%I STH B YSATd YUl A gl g AR
SH® a1¢ d aR}-aR! ¥ UF-U@ foT 3 ol €, @ 75%
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(c) 20

Forast st spafslEpE
v 43723

k — L0op
Lcm =
XD — S
—o W
I




MATHCMATICS By Pradeep Sir

Q. 9) A and B can do a project in 9 days. B and C can do it
in 12 days whild C and A can do it in 18 days. In how
many days A, B and C all working together] can finish the

W -:@"@ — 37 project?

AR BUTH IRGI S 9 fRAI A W AR TP g1 B3R C

3->®+@ > 1D TR 12 a1 # g1 &Y 9w €, wafd ¢ iR A 5 18 3T A

o2 -\I&ZD Eig

P TPd @, a A, B 3R ¢ feey feaa feat &
%ﬁamﬁwmm%‘? I

Lt = 36 (c) 11

360 > \
(d) 10
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Q. 10) A and B working together can finish a piece of
work in 8 days while B alone can do it in 24 days. In how

d A alone finish the work?
A X B U WY BT A & g;i.a?ma’fﬂ%ﬁﬁwm
HPd 8, Safd B APal 39 24 fe-l # Y APar g, af A
AP I BTH B fFaq a1 & @1 &% gwar g2

(a) 10 (b) 16
(d) 14%
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Q.11)Pand Qcan do a job in 24 days, Q and R can do it
in 30 days, while P and R can do it in 40 days. X is four
times as efficient as P, Y is half as efficientas Q, and Z is
2.5 times as efficient as R- Determine the number of days

requnred to complete the same job if X, Y and Z work

ether.
P X Q US &4 &t 24 =1 Y UPA 8, Q AR RSH
mﬁsoﬁa’fﬁmwav?% P X R IH B
1 40 f&A1 & mmﬁlxpﬁmwm% Y, Q
BT ATYT HIA &, 3R Z, RH 2.5 A1 21l x, v ok
Z U 9TY 14 3 €, O THH P T FI3 S R
ITITaS o1 Ft w= ya Ffr)
(a) 9 b) 12 "
(c) 8 O
hv e
x Y z 2 '<
= o (0D
8 + |'S§ +&-5 —_
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Q. 13) A thief is noticed by a policeman from a distance
of 200 m. The thief starts running as soon as he is
noticed, and the policeman chases him simultaneously.
Rs> | km [\ The thief and the policeman run at the speeds of 10
km/h and 11 km/h] respectively. What is the distance (in
m) between them after 6 min policeman starts chasing?

-~ gfera®dl, Te 91X @ 200 Hiex 3t g8t A @l ¢
Emi~y — looo / wgfa'qﬁxﬂﬁq\'?l: &1 IR U TaT & SR gferaaHl
§o *° PLom mﬁmm%ﬁl’?\wﬁz HHY: 10 km/h 3R
11 km/h &t 9160 | ERT ST BT Y&

PP 6 AT s B g3t (Hiex #) = Enik

Z&v* (a) 75
(c) 125 (d) 150
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G+b +c =T Q.14)Ifa+b‘:|'-/c4=7,ab+bc+c5=11and:l.)_c_=
O +b c+Ca= I -1, then a® + b* + ¢? is equal to:
A @) 101
| (b) 107
2 2 2, 2
vroaine sl ]
- o242, c? (d) 111
ha = grlep2yc 1—9-Q(> ) i
hey = &4+ =22 alpryct = ‘Q;.-/
43 +b34+C3-3ebe = (A +b +c)£L 4L+ %) — (rotbe %9—‘]
)
4346345 +3 = -7;&("{7~N)
a3 +63 + ¢ 3 ¥ =~ 11=2-3>D 1°1 A
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Q. 15) lf(x—-) 2v/2 and x > 1, what is the value of
e L L e ) (6 -2
Q?ﬁ,) (‘24 \"3) 'Q'f%(x—-) 2VZ iR x> 18, ?ﬁ( ‘Janmam
= 39¢ L
— grm? 2’-_'. = R [R
x-L= RTR (a)37"i\/‘)c
b)384\/— L& M)+ 2x 02
x“'-‘if—f:? AR [ (d)420\/_7$ :) e +6I2 = 2207
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Q. 16) If (Zy K 3) = 7, find the value of (yz + ;1;)
y

uﬁ(2y+§) = 7t,t-|'r(y2 +%)mmmﬁ|

(b) 45/4
(c) 49/4
(d) 49/2
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(). 18) Find the value of

2 . ° y o 2 ° 3 2 °
§tan 60° + 3cos“30° — 2sec“ 30 —Zcot 60°.
(a) 2.33 N

373+ 3 %—- 3

{3

R

J
'Vf (b) 2.01
N
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Q. 19) What is the value of sin(—405°) ? sin(—405°) &I
HTH JTd B |
(@) F *

::))_-1_1/2; = Sim (360 +us )

=

~ i ug= T A
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Q. 20) From a point Q, the length of the
tangent to a circle is 20 cm and the distance of
Q from the centre of the circle is 25 cm. The
radius of the circle is: ' =

Q ¥ UPH 99 U¥ WIRET H! @418 20 cm &
%%ﬁﬁqgﬁﬁﬁcm%lﬁ%ﬁﬁmm
|

& PH
%5 a) 5 cm (b) 10 cm
\— 5%§ (d) 12.5 cm
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Q. 21) In a circle with centre O, PA and PB are
the tangents A and B, respectively, from an
eUternal point P. If ZAPB = 24°, then find

LAOB.
0 &g ara 4 PARPBUS SR fag P
ﬂW&ﬁWMW&?HﬁM@%:

24° €, 9 LAOB FTd SIforT|

a) 158° (b) 48°
@ 180
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(). 22) The three sides of a triangle are 12,17 and x
units. Which of the following options is correct?

e Bye 3t 99 yoimd 13,17 3R x 3918 71 Pufaf@a &
AP RTEd

(a)5<x<29

(b) 5 < x < 29 13, 17, X

(c)5<x<29 ﬁ "

(d)5 < x <29 5 < x < X9
=

Ao
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Q. 23) The slant height of a cone is 10 cm and
the radius is 6 cm. What is the total surface

~ f"éf" o area gf tl;%cone? Tgke X = .?‘./1__4 aﬁz .
R R v L KRl
W/ 'cﬂﬁl'g 2
3...1)((“‘ 6 (a) 2924 cm ‘_,‘4

(b) 312.2 cm®
/ ¢) 305.4 cm? A
e
/;) 20\‘ L\\‘
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Q. 24) Study the given bar graph and answer the
question that follows.

A compnay provies five different products. The
sales of these five products (in 1000 number of

acks) during 2019 are shown in the bar-graph.
F?Qmasammammaﬁﬁmaﬁz%%faqw

* I o RS K I

gﬂﬁwﬁ%mmmﬁ%l 2019 &
. urd IdTG! Bt fast (1000 9% St @& H)

<s ¥ guidt g g1

What is the approximate ratio of sales of product A

: t duct Ein 2019?
v o 2019 & IE A Bt et A TR £ o At

- & TTHAT 3(UTd T 872
' (a) 1:2 (b) 1:3
== (c) 2:3 (d) 2:1
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Q. 25) The following bar graph represents the
demand and production for five companies, V, W, X,
Y and 2. On the basis of the bar graph, answer the

uestion.
%ﬁmﬁuﬁﬁﬁﬁv, W, X, Y 3fX Z 3t |1
3R ITEH H AT 7T 1 R ATE & ATYR W UY
ST I S|
If K% of the production for company X equals the
demand for company W, then K equals:

gfe Y X F IATST BT K% HYAT W I 01T & avT6R
2, ot k FPafafae § | fFad e e?

(a) 40 (b) 45 N
(c) 35 CE C,M:”:
/_____

Camn =

=
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